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#include <stdio.h>
#include <string.h>
#include <stdlib.h>
#include <math.h>
int float_cur = 0;
int char_cur = 0;
float *nums_expand_float(float *nums, int length)
{
float *newnums;
newnums = (float *)malloc(sizeof(float) * length * 2);
if (newnums == NULL)
{
// SCTE N AE S B SR IS
return NULL;
}
memcpy (newnums, nums, sizeof(float) * Tlength); // fi/ll memcpy &4
free(nums);
return newnums;
}
float mypow(float a, int b)
{
float res = 1;
while (b >= 1)

return res;

char *symbol_sexpand_char(char *nums, int Tength)

{
char *newnums;
newnums = (char *)malloc(sizeof(char) * Tength * 2);
if (newnums == NULL)
{
// SCEE N ARG B R A
return NULL;
}
memcpy (newnums, nums, sizeof(char) * Tength); // flil] memcpy &%
free(nums);
return newnums;
}

int main()

char *symbol;

int CHARMAXLENTH = 50;

int FLOATMAXLENTH = 50;

symbol = (char *)malloc(sizeof(char) * CHARMAXLENTH); // =
float *nums;

nums = (float *)malloc(sizeof(float) * FLOATMAXLENTH);

// printf("%f\n", mypow(2, 3));


af://n122

char c¢ = getchar(Q);

while (1)

{
if (char_cur == 0 && c != "#' && float_cur == 0)
{

symbol[char_cur] = "#';
char_cur++;
}
if ('0" <= c && '9' >= )
{
float tmp = 0;
tmp = tmp + c - '0';
c = getchar(Q);
while ('0' <= c & '9' >= ©)
{
tmp *= 10;
tmp = tmp + ¢ - '0';
c = getchar(Q);
3
if (. = o)
{
float i = 10;
float flo_tmp = 0;
c = getchar();
while ('0' <= c & '9' >= ©)
{
flo_tmp = flo_tmp + (float)(c - '0') / 1i;
i *= 10;
c = getchar(Q);
b
tmp += flo_tmp;
3
if (float_cur == FLOATMAXLENTH)
{
nums = nums_expand_float(nums, FLOATMAXLENTH) ;
FLOATMAXLENTH *= 2;
I
nums[float_cur] = tmp;
// printf("%f %f\n", nums[float_cur], tmp);
float_cur++;
printf("shift: %f\n", tmp);
// printf("%c\n", c);
3
if ("#' == c || ¢ == EOF)
{
if (0 == char_cur)
{
symbol[char_cur] = c;
char_cur++;
3
else
{
while ('"#' != symbol[char_cur - 1] && char_cur != 0)
{
if ('"+' == symbol[char_cur - 1])



printf("Reduce: %f %c %f=", nums[float_cur - 2],

symbol[char_cur - 1], nums[float_cur - 1]);
nums[float_cur - 2] += nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
b
else if ('-' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],

symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] -= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

}

else if ('*' == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],

symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] *= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

3

else if ('/' == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] /= nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
}
else if ('A'" == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],

symbol[char_cur - 1], nums[float_cur - 1]);
nums[float_cur - 2] = mypow(nums[float_cur - 2], (int)

(nums[float_cur - 1]));
printf("%f\n", nums[float_cur - 2]);

float_cur--;
char_cur--;
3
else if ('(' == symbol[char_cur - 1])
{
printf("expected )\n");
free(nums);
free(symbol);
return 1;
3

}
if (char_cur == FLOATMAXLENTH)

{



symbol = symbol_sexpand_char(symbol, CHARMAXLENTH);
CHARMAXLENTH *= 2;

b
if (symbol[char_cur - 1] == "#")
{
if (float_cur != 1)
{
printf("need one more operation\n");
free(nums);
free(symbol);
return 3;
3
printf("result is %f\nfinish", nums[0]);
break;
3
3
}
if ("+' = o)
{
while ('#' != symbol[char_cur - 1] & '(' != symbol[char_cur - 1])
{
// printf("+");
if ('+' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] += nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
3
else if ('-' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] -= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

b

else if ('*' == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] *= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

}

else if ('/' == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);
nums[float_cur - 2] /= nums[float_cur - 1];



printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
3
else if ('A' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] = mypow(nums[float_cur - 2],
(int)nums[float_cur - 1]);

printf("%f\n", nums[float_cur - 2]);

float_cur--;
char_cur--;
}
3
if (char_cur == FLOATMAXLENTH)
{
symbol = symbol_sexpand_char(symbol, CHARMAXLENTH);
CHARMAXLENTH *= 2;
3

printf("shift: %c\n", c);
symbol[char_cur] = c;
char_cur++;

}
if ('-' =0
{
while ('#' != symbol[char_cur - 1] && '(' != symbol[char_cur - 1])
{
if ('+' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] += nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
3
else if ('-' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] -= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

}

else if ('*' == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] *= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;

char_cur--;



else if ('/" == symbol[char_cur - 1])
{
printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);
nums[float_cur - 2] /= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
3
else if ('A'" == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] -= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;
3
else if ('"#' == symbol[char_cur - 1])
{
printf("expected (\n");
free(nums);
free(symbol);
return 2;
}
3
if (char_cur == FLOATMAXLENTH)
{
symbol = symbol_sexpand_char(symbol, CHARMAXLENTH) ;
CHARMAXLENTH *= 2;
3

printf("shift: %c\n", c);
symbol[char_cur] = c;
char_cur++;

}
if ("% = o)
{
while ('#' != symbol[char_cur - 1] && '(' != symbol[char_cur - 1] &&
'+' I= symbol[char_cur - 1] & '-' != symbol[char_cur - 1])
{
if ("*'" == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] *= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

}

else if ('/" == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] /= nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);



float_cur--;

char_cur--;
}
else if ('A'" == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] -= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;
3
3
if (char_cur == FLOATMAXLENTH)
{
symbol = symbol_sexpand_char(symbol, CHARMAXLENTH);
CHARMAXLENTH *= 2;
3

printf("shift: %c\n", c);
symbol[char_cur] = c;

char_cur++;

}
if (/' = 0O
{
while ('"#' != symbol[char_cur - 1] && '(' != symbol[char_cur - 1] &&
'+' 1= symbol[char_cur - 1] & '-' !'= symbol[char_cur - 1])
{
if ('*' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] *= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

b

else if ('/' == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] /= nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
3
else if ('A' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] -= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;

char_cur--;



if (char_cur == FLOATMAXLENTH)

{
symbol = symbol_sexpand_char(symbol, CHARMAXLENTH);
CHARMAXLENTH *= 2;

h

printf("shift: %c\n", c);

symbol[char_cur] = c;

char_cur++;

}
if (A" ==c || 'C" =)
{
if (char_cur == FLOATMAXLENTH)
{
symbol = symbol_sexpand_char(symbol, CHARMAXLENTH);
CHARMAXLENTH *= 2;
3
printf("shift: %c\n", c);
symbol[char_cur] = c;
char_cur++;
// printf("%c\n", symbol[char_cur - 1]);
}
if ()" = o)
{
while ('('" != symbol[char_cur - 1])
{
if ("+' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1]);

nums[float_cur - 2] += nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
3
else if ('-' == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] -= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

3

else if ('*' == symbol[char_cur - 1])

{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] *= nums[float_cur - 1];
printf("%f\n", nums[float_cur - 2]);
float_cur--;
char_cur--;

b

else if ('/"' == symbol[char_cur - 1])

{



printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] /= nums[float_cur - 1];

printf("%f\n", nums[float_cur - 2]);

float_cur--;

char_cur--;
3
else if ('A'" == symbol[char_cur - 1])
{

printf("Reduce: %f %c %f=", nums[float_cur - 2],
symbol[char_cur - 1], nums[float_cur - 1]);

nums[float_cur - 2] = mypow(nums[float_cur - 2],
(int)nums[float_cur - 1]);

printf("%f\n", nums[float_cur - 2]);

float_cur--;
char_cur--;
3
else if (char_cur == 1)
{
printf("expected (\n");
free(nums) ;
free(symbol);
return 4;
3
}
if (char_cur == FLOATMAXLENTH)
{
symbol = symbol_sexpand_char(symbol, CHARMAXLENTH);
CHARMAXLENTH *= 2;
3
printf("Reduce: (%d)\n", nums[float_cur - 1]);
char_cur--;

c = getchar(Q);
// printf("c=%c\n", c);

}
free(symbol);

free(nums) ;

return 0O;

BHOEINT — ERRARE, SNRFHERAEHE, MetRXIRAY RERE, By KEIRG
A9PRLE,

M. EIRER


af://n126

PS F:\kingwood\kingwood \ERIEIGIENA="T\C515445> ./mybison
ﬂ1+2+4+5*1+2*(1—2+3“2)/7#

shift: 1.eceeee

shift: +

shift: 2.eceoee

Reduce: 1.000000 + 2.000000=3.000000

shift: +

shift: 4.000000

Reduce: 3.000000 + 4.000000=7.000000

shift: +

shift: 5.oee0e0

shift: *

shift: 1.oeeoe0

Reduce: 5.000000 * 1.000000=5.000000

Reduce: 7.000000 + 5.000000=12.000000

shift: +

shift: 2.oe0000

shift: *

shift: (

shift: 1.0e00e0

shift: -

shift: 2.0e0000

Reduce: 1.
shift: +
shift: 3.o00000

shift: ~

shift: 2.000000

Reduce: 3.000000 ~ 2.000000=9.000000
Reduce: -1.000000 + 2.000000=8.000000
Reduce: (8)

Reduce: 2.000000 * 8.000000=16.000000
shift: /

shift: 7.000000

Reduce: 16.600000 / 7.000000=2.285714
Reduce: 12.000000 + 2.285714=14.285714
result is 14.285714

finish

BEAKESH0HBEETERNRA

PS F:\kingwood\kingwood \EREI[A\ K= T \C515445> ./mybison
1+ 2+ 7H8HH5+6H+1+7-8-9-6-4-1%8+8/7+27248% (1-3 ) +(6+4) /3¢
shift: 1.ooe000

shift: +

shift: 2.eoe000

Reduce: 1.0000008 + 2.000000=3.000000

shift: +

shift: 4.cee000

Reduce: 3. + 4.

shift: +

shift: 7.ooe000

Reduce: 7.000000 + 7.000000=14.000000

shift: +

shitt: 2.oeecee

Reduce: 14.
shift: +
shift: 9.o0oe000

Reduce: 22.000000 + 9.000000=31.000000
shift: +

shitt: 5.oee000

Reduce: 31.
shift: +
shift: 6.000000

Reduce: 36.000000 + 6.000000=42.000000
shift: +

shift: 4.e00000

Reduce: 42.
shift: +
shift: 1.ooe000

Reduce: 46.000000 1.00000e=47 .000000
shift: +

shift: 7.ee0000

Reduce: 47.
shift: -
shift: 2.ooe000

Reduce: 54.000000 8.0000Re=46.000000




shift:
shift:
Reduce:
shift:
shift:
Reduce:
shift:
shift:
Reduce:
shift:
shift:
Reduce:
shift:
shift:
shift:
shift:
Reduce:
Reduce:
shift:
shift:
shift:
shift:
Reduce:
Reduce:
shift:
shift:
shift:
shift:
Reduce:
Reduce:
shift:
shift:
shift:
shift:
shift:
shift:
shift:

8.0600000

51.000000 - B8.000000=16.080000
9.0600000

16.000000 - 9.000000=37.000000
6.000000

37.000000 - 6.000000-=31.000000
4.680000

31.000000 - 4.000000=27.000000

1.000000
®
8.000000
1.000000 * 8.000000=8.000000
27.000000 - £.000000-19.000000
+
8.000000
/
7.000000
8.000000 / 7.000000=1.142857
19.000000 + 1.142857-=20.142857
+
2.000000
M
2.000000
2.000000 ~ 2.000000=4.000000
20.142857 + 4.000000-24,142857
+

8.000000
*

(
1.000000

3.0608000




shift: +

shift: 2.000000

shift: »

shift: 2.eocceee

Reduce: 2.00000@ ~ 2.000000=4.000000
Reduce: 20.142857 + 4.000000=24.142857
shift: +

shift: 8.000000

shift: *

shift: (

shift: 1.000000

shift: -

shift: 3.000000

Reduce: 1.000000 - 3.000000=-2.000000
Reduce: (0)

Reduce: 8.000000 * -2.000000=-16.000000
Reduce: 24.142857 + -16.000000=8.142857
shift: +

shift: (

shift: 6.000000
shift: +

shift: 4.ecceee

Reduce: 6.008000 + -16.000000=10.000000
Reduce: (8)

shift: /

shift: 3.000000

Reduce: 10.000008 / 3.000000=3.333333
Reduce: 8.142857 + 3.333333=11.476190
result is 11.476198

finish
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142%343%(1-2)#

shift: 1.eeoeee

shift: +

shift: 2.e000008

shift: *

shift: 3.e0000008

Reduce: 2.000008 * 3.000000=6.000000
Reduce: 1.000002 + 6.000000=7.0008000
shift: +

shift: 3.e00e0008

shift: *

shift: (

shift: 1.eo00e000

shift: -

shift: 2.eo00000

Reduce: 1.000000 - 2.000000=-1.000000
Reduce: (©)

Reduce: 3.000000 * -1.0008000=-3.0800000
Reduce: 7.000002 + -3.0008000=4.080008
result is 4.e0eve8

finish

HeERE

#142%343%(1-2)

shift: 1.eoeeeee

shift: +

shift: 2.000000

shift: *

shift: 3.e00000

Reduce: 2.000200 * 3.000000=6.0800000
Reduce: 1.000200 1+ 6.080000=7.800000
shift: +

shift: 3.000000

shift: *

shift: (

shift: 1.eceeee

shift: -

shift: 2.000000

Reduce: 1.000800 - 2.000000=-1.000000
Reduce: (©)

N

Reduce: 3.080e00 * -1.000000=-3.000000
Reduce: 7.000000 + -3.000000=4.000000
result is 4.eeecee

finish
RBIRDAEIRS

PS F:\kin
#142)#
shift: 1.0e0080

shift: +

shift: 2.0e00000

Reduce: 1.0008000 + ©.080000=3.000000
expected (

HRIRDGIES




PS F:\kingwood\kingwood\TRJ= — F\Cs15445> . /mybison
#142%(3+4) )#

shift: 1.eoveoeo

shift: +

shift: 2.000000
shift; *
shift: (
shift: 3.eoeoeo

shift: +

shift: 4.e00000

Reduce: 3.000000 + ©.000000=7.000000
Reduce: (0)

Reduce: 2.000000 * 7.000000=14.000000
Reduce: 1.000000 + 7.000000=15.000000
expected (

R EER

PS F:\kingwood\kingwood\RE A\ A= F\CS15445> ./mybison
1+2(1+3)#

shift: 1.eeecee

shift: +

shift: 2.eeeecee

shift: (

shift: 1.eeeecee

shift: +

shift: 3.0e0000

Reduce: 1.000000 + ©.000080=1.000000
Reduce: (8)

Reduce: 2.000000 + 4.000000=6.000000
need one more operation

—— =174 Ad 4 Ixd
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